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A ball is dropped from a platform. Its path can be represented by A model rocket is launched from a platform.
the relation 7 = —5¢% + 45, where I represents the height of the The trajectory of the rocket can be modelled
ball in metres and ¢ represents the time in seconds taken for the by the relation i = —5£° + 100 -1%0, where
" ball to fall 1o the ground. is the height of the model rocket i metres

and ¢ s the time in seconds.
a) Factor 1o find the zeros

h--5 4= 20t+%6 )

a) What is the vertex?
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b) Fill in table using vertex and two other points
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c) From what height was the ball dropped? 4 S
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d) How long did it take for the ball to reach the ground? / : 3
(sub h= 0) o ] B!
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¢) What is the height of the undergrou%d platform from =
which the rocket was released?

e) How long is the rocket in the air?

i

f) What is the height of the rocket at 5 sec?
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